AKOTEC

SOLARTHERMIE

Installation Instruction Elevation Set

1x hammer-head bolt

1
N

.
2

f,

f?" i)
{ '

1x hammer-head bolt
1x washer
1x nut

Included in scope of delivery:

- 2 x triangle adjustable
-2 X screw M8 x 40
- 2 X nut M8 for locking serration
- 2 X washer M8
-1 x diagonal bracing set consisting of: 2 X brace,
4 x hammer-head bolt,
5Xx nut M§,
5 x washer M8

IMPORTANT: Please pay attention to all planning, installation and commissioning
manuals. These documents are available at all times on http://akotec.eu/downloads/ .

. AKOTQS}(&QJ&)nsgesellschaft mbH | Grundmuhlenweg3 | D Edﬁk/&ﬁ@rﬁh&ﬁt Page
. T:+49 (0) 33312571630 | F: +49 (0) 33312559996 | M: info@akotec.eu | W: akotec.eu

. U-Id: DE258392653 | St-Nr: 062/105/02244 | GF: Katrin Sprenger | Neuruppin HRB 10218 NP


http://akotec.eu/downloads/

